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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2018

STD: VIl of:edl Roll No.

Date of Examination : 11 February 2018, Sunday
glgnefferdt g=A / Guidelines for the Candidate

1. U9 Yftaehdict Te U9 SIS AT et Faser Wt e we.
Please make sure that all questions are printed properly in Question booklet or
not.

2. YT AT & TRET SHATERTE ek UTHiehT (e TeaT=l W Shied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangd fageneatn e dyut Al Wt wvarEdt 30 fafRe it as qvam
EES

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQ IGRETRALE TRUT 100 T ST Tedkeh TYETS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. Yeheal ScIagge! MasTeiedl TN $Haeare! Sehi T[0T Tl het
HTUTR ATEH.
All questions are compulsory. There is no negative marking.

6. SIUCHATY ! TR [HeaTeaTH W T Tl
Check to make sure that you have received the appropriate test booklet for your standard.

7. UATEMER thaes Tehd el sRIeR TR, SNieR ScRTETs! Uehe

There is only one correct answer. Choose onIy one option for an answer.

8. IcalTaN U WIUATHTS! Sheles hiest / fHest T SieTa=<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........covrvecrrcenennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO| [«x @GO @]
9. UM HUCHTER gl ScUTIhT THALTERIEhE IR SHUTal.

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTIET URET SHHTH TITYREThar GEaT ToTeTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




Ty fergrean SRt SuTt wen sieE.

Which number will replace the question mark?

9 2 16 3
11 8 4 31

A) 195 B) 165 C) 185 D) 205

TehT Hichideh Wd COACH 7191828 56153 191 e shell & MASTER &1 9Te< 217084 3761 =8
el T MORCHA 1 91e8 S8t S5er il ?

If COACH is coded as 56153 and MASTER is coded as 217084, then how will MORCHA be coded as?
A) 615342 B) 216144 C) 264531 D) 132645

HEITG, TR o WRA AT TE WATTdeh! ShivTeat o ST otae.

Which of the following diagrams represent relationship among Ahmedabad, Gujarat and India?

OO QY
ele

28 Tt 2002 Tsht e 2, T 2005 Al Titet A= Steresan et v aikg A5 ?

28t April 2002 was Sunday so what date was it on last Sunday of April 2005?
A) 23 B) 24 C) 25 D) 30

WA TP TPATRIFETean SRR T 37eR A,

In the following question which letter will replace the question mark?

) ) &

)V D)T

WA TSI IehIuTIe FTEdTd e ST fohelt ?

What is the maximum number of triangles in the figure below.

A)11 B) 13 )9 D) 15




10.

11.

WA TEAMTAT YUt ShiuTl Ui et

Select the correct option to complete the following number series.
1015,2128,3645,5566,?
A) 7890 B) 7891 C) 7788 D) 7791

WA HifeTohd TITRI-ETeaT SIRT R vl SIS Ase1 ?

In the following series which pair of the letters will replace the question mark.
YA, BX, WC, DV, UE, ?
A) FS B) GS C)FT D) TG

9 T 3R 72 fieX e, @ 3 9 8 shHiehTea Wiammele 23 ferdt fire s/@e ?
A) 54 fiex B) 27 firex C) 45 R D) 38 firex

The distance between 9 poles is 72 meters then what is the distance between 3™ pole to the 8
number pole.
A) 54 meters B) 27 meters C) 45 meters D) 38 meters

Select the answer figure which is exactly the same as the problem figure.

g W/ Question Figure:

Q.00 0

Wt TP3TThdlen S Yot uarddt ana g Faer.
Select a correct option to complete the square of question figure.

g W/ Question Figure:

th

e e R




o -
W T Ufeed UaTen go= ugiel STe ey 11, S7Tet aara wag foe=n a watuegrean swft
YU UST= AR, T FelTd U3 TATgrean JARM U= ueren g=i fHaet.

Instruction:-
In the following questions, the relationship between the first and second term is the same as it is
between the third and fourth terms, which alternative will come in the place of question mark.

X S W g of 4da

12.

> o b \'/

A) B) C) D) i

13.  forme wige : fohrehe @ SEaR oo @m : 2

A) T B) S C) IR D) @
Virat Kohali : Cricket :: Ustad Vilayat Khan :
A) Tabla B) Flute C) Sitar D) Santoor

14. ETel STt YUl huaEISt arg ugi Haet.

Select a correct option which will complete the question figure
a9 aﬁﬁﬁ/ Question Figure:

i 3 | 3

A) B) C) D)

15.  TETd 9 JSEUIR UTE 5@,

A) faer B) TdifaeR C) f’orex D)gd

Find the odd one that does not belongs to the group.

A) Meter B) Centimeter C) Liter D) Inch
16. UREAR VT ggERANEET AR 3R,

A) TATTHETA ATT0T TR B) T&UT HiX SATUT g

C) T(eh TS 3ATFUT e D) ¥&TUt Hic SAIf0T STAeR

‘Charminar’ and ‘Hyderabad’ have same relation as they have

A) Tajmahal and Jaipur B) Golden temple and Patna

C) Rock Garden and Patna D) Golden temple and Amritsar




17.

18.

19.

20.

21.

22.

23.

WA T9 STt TR SHAHT S SATheAed INe.
Choose the correct mirror image of question figure from the answer figures.
a9 anqrch/ Question Figure:

<o O 4

o= fergrean it SR s1er A ?

Which letter will come in place of (?) ?

D D Y W

M M U U

A)S B)Y Cw D)D

Select a figure from the options which when placed in the blank space of the figure given below
would complete the pattern.

g9 TRt/ Question Figure:

i | A
N\ | N

A) 7 B | ) L— D)

SX27=14,61=6,84=32,40=7

If27=14,61=6,84=32then40="
A) 10 B) 4 c)o D) 44

Tt gt Hell1 SISt HUNEA FIsaren e <hIUT1 ?

A) e B) aferfarsron C) faehifersem D) GEATEATUT
ST WA SHITEUl AT TR T 312 uaiame Haet.

A) T Jet TR0t B) HICHENA FER HIUI

C) 31 T H0l D) SHHTST |1EM T I,

“{Tﬁ?rﬁgiﬁaﬁmm’mamﬂa AR ITeaTei farwerdt stiesw.
A) g B) =rgeft C) U=t D) usdt




24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

T AT VTR THTTRT vIsd SN,

A) Freomma B) UgErd c) Fromoft D) smruft
AT TR STegTel 7o Tatary snen.

forehct um=

A) TS FEHTETEN AU B) S@UT HIUE

C) Ferara A D) |edT TN HIUH
WIeleTdeh! faeegd STt TaE! SISt ShIuT! ?

A) T x faEmr B) fem x WA C) Tt X ATeT D) ei=re x feisst
WIEATCTUh G 9168 ShIUTAT ?

A) foret B) Tfieht c) fufa D) hfa
Choose the correct alternative of verb to make the sentence meaningful
Yesterday all of us the famous fort.

A) Visit B) Visiting C) Visited D) will Visit

Mark the synonym of the word given below.
ADMIRE
A) Insult B) Praise C) Quality D) Possess

Select one word for the given definition :
One who loves one’s country -
A) Traitor B) Patriot C) Revolutionary D) Spy

Choose the correct word i.e. the opposite (antonym) of the given word.
PARTIAL
A) Whole B) Partly C) Private D) Particular

Fill in the blank with most suitable word.
Shivtej has been living in Mumbai three years.
A) from B) to C) for D) by

Choose the correct synonym to the following word from the given alternatives.
GRAVE
A) Critical B) Convince C) Correct D) Collect

Choose the word which means differently from the following group of words.
Base, Basis, Summit, Bottom, Foundation, Origin
A) Origin B) Base C) Foundation D) Summit

Choose the correct option to fill in the gap.
The guestion is to arrange for the money today.
A) Larger B) big C) bigger D) biggest

( )
L > J



36.

37.

38.

39.

40.

41.

42.

43.

Choose the most suitable answer to fill in the blank.
This be your book. It has your name on it.
A) Must B) Shall C) need D) can

F. 1200 T 25% SITEA TS feheil 2

A) 1750 Ta3 B) 1600 TUA C) 1450 T4 D) 1500 T3
What amount 25% is more than Rs.12007?
A) Rs.1750 B) Rs.1600 C) Rs.1450 D) Rs.1500

Teh! TTicer 30 fareumeaiel @U@ o 9 a4 3R, W P a9 @« fHeae ™ &Ed 99 10 99 2
™ e au fordt ad @ ?
A) 27 8 B) 40 =& C) 30 & D) 31 =4

The average age of 30 students in a class is 9 years, If the teachers age is added, the average age
becomes 10 years. What is the teacher’s age in years?
A) 27 years B) 40 years C) 30 years D) 31 years

AR 6.50 & TffeRett T 20 fohent & 8.50 & Hfciforent w0t 30 foRcAt ATges ATUTEn & ¢ Sel A1ge
TeRa foreesd 9 % Tfdfehet! SHIUT farehet TR STCITehel 3T SagRId UeRUT fehell Ot SATEAT.
A) 65 TR B) 85 TUA C) 130 Tux D) 125 %43

Alok bought 20kg of rice at the rate of Rs.6.50 per kg. And 30 kg. Rice at the rate of Rs.8.50 per kg.,
He mixed the two and sold the mixture at the rate of Rs.9 per kg. What was his total gain in the
transaction?

A) Rs.65 B) Rs.85 C) Rs.130 D) Rs125

W ® Y L.
Simplify:

(a®-2a%+4a-5) - (-a>-8a+2a%+5)

A) 2a%+7a%+6a-10  B)2a%+7a’+12a-10 C)2a*-4a’+12a-10 D) 2a*-4a’+6a-10

T T OTRR 2700 9 &40, 180 o1, T @ T a9l fohedt age1 2

A) 60 B) 210 C) 105 D) 75
Multiplication of two numbers is 2700 and their L.C.M. is 180 then what will be the sum of these
two numbers.

A) 60 B) 210 C) 105 D) 75
6 X +5

—=— , WX=7

17 85

A) 150 B) 125 C)120 D)5
6 X +5

—=——, thenX=?

17 85

A) 150 B) 125 C)120 D)5

(60— 4)(60 — 6) =
A) 1200+600-24 B) 1200-600-24 C) 3600+600-24 D) 3600-600+24




44,

45,

46.

47.

48.

49.

TSR A, B, C, D 2 foig smrga ®

A D
B C
A) 2A+2B=180° B)«B+2sD=180° C) 4B+ 2C=180° D) ITU<h! A&

A, B, C, D are points on the circle then,

A D
B C
A) A + 2B = 180° B) £B + 2D = 180° C) 2B + 2C = 180° D) None of these

(XXX = IX) = VIl = ?
A) IV B) VI )V D) Il

Hrean.

Solve.
(0.5)%+ (0.4)°+ 2 X 0.5 X 0.4
(0.5)2— (0.4)2
A) 1 B) 9 C) 0.9 D) 0.1

TRt FaSurehia 84% W SUTRT SHEAR 476 =41 HaTteerI Faga S, @ ieiedn TRt HagHTH!
e fodt ?
In an election a candidate who gets 84 % of the votes is elected by majority of 476 votes. What is

the total number of votes polled?
A) 750 B) 720 C) 800 D) 700

TTelt Wifet Aed At stEeelt PQRS & eimehdt faett 312, R PQRS < 81thes 72 HHY 318 @ x ot
ferma femett 2

The figure below shows a trapezium PQRS and the lengths are in centimeters. If the area of PQRS is
72cm? find the value of X.

4
p—x\g
i\‘
6 "\
\
\
“'\
S 3x+10 'R
A) 2 B) 4 Q)6 D)8

WA eTteh! URAT TG hivTdl SISt T 1R ?

Which of the following pairs of rational numbers are equal?
27 24 —-15 25 -6 11 -8 7

A=, — = = —, — —, —

-36’ -30 20 " =30 -10’ -15 24




50.

51.

52.

53.

54,

55.

56.

TOTTehT <h.

Multiply.

(9y — 4x)(8y? -5xy + 3x°)

A) 72y3 — 77xy* + 47x%y -12x°
B) 74y® — 77xy’ + 47x%y + 12x°
C) 72y° + 77xy* + 47x%y -12x°
D) 72y% — 77xy? + 47x%y -12x°

CEEE R

Factorise.

4P* +24PQ + 36Q°

A) (2P -6Q)(2P + 6Q)
B) (3P +6Q) (3P + 6Q)
C) (2P + 6Q) (2P + 6Q)
D) (2P +6Q) (2P - 6Q)

= e AISTA AT

A) fait afcasm B) Afeasm™ C) TéitHeR D) fereTim
Temperature is measured in

A) Degree Celsius B) Celsius C) Centimeter D) Kilogram
Feliickihee ke Tfshan MR

A) ST B) e -Ha C)®e D) ITUH AT
Weathering is a very process.

A) Quick B) Quick-Slow C) Slow D) None of these

WICTIR! ShIUTT UeTTeeT JHED UehTel Yokl S7U] STETd ?

A) 3Tt B) UTuft C) ST THATFATEE D) Tow SHASNFITES
The molecules of which substance contains same kind of atoms

A) Oxygen B) Water C) Carbon Dioxide D) Sulphur Dioxide
WeAicdeh! I et faer.

A) TS - Na B) &&ed - W

C) f3te wewre — KNO, D) HAREW - Al

Select a correct match.

A) Nitrogen - Na B) Tungsten - W

C) Zinc Sulphate — KNO3 D) Magnesium - Al

foreemra wqreri=h adien ST STUT T A5 ?

A) GTER= B) UM grIgieRATS S
C) S D) HigTean

Which solution is used for test of carbohydrates?

A) Sugar B) Potassium Hydroxide
C) lodine D) Salt

( . )
{1 8 J



57.

58.

59.

60.

61.

62.

63.

T ATIHHTER gaTe ST STEEATR gid, o A ugrern 1.

A) farforee 3em B) TGUTIh C) SceheTTeh D) ZaEUTIeh
What is the temperature at which liquid state changes to gaseous state is called?
A) Specific heat B) Freezing point C) Boiling Point D) Melting Point

W I ARG T HeTh hivl 3T ?
e et — gho — T
A) fexeht st B) RUT c) ez D) alicTaeht &1dt

Which one of the following is a primary consumer in the given food chain?
Green Plant —» Deer —» Lion

A) Green Plant B) Deer C) Lion D) All of these
WIcAeTdeh! qrogTen TAfHe: T i .
A) 5T B) SAfHeIeT quft
C) UTerET=! gruft D) aficT<h! @
Which of the following is the primary source of water?
A) Ground Water B) Surface Water
C) Rain Water D) All of these
WIeleTdeh! fagea e hivTd o .
A) T B) ShTIH C) wEe D) SrieTueh! el
Which of the following is an insulator?
A) Glass B) Cotton C) Ebonite D) All of these
wruvhen et <t TR
A) AR B) ShicyTEH C) WITFE D) SR—EH

is essential for the production of blood cells.
A) Iron B) Calcium C) Phosphorus D) lodine
forTa vata stiesa.
A) Raam B) el C) rfaEr D) femmeer
Choose the odd one out.
A) Malaria B) Cholera C) Diarrhoea D) Typhoid
giceieik-cuic N AR
A) 1535 @ B) 1082’ @ C)1635°@ D)0’ &
Melting Point of Iron is
A)1535°C B) 1082" C €)1635°C D)0°C




64.

65.

66.

67.

68.

69.

70.

71.

TRITETEN e heft et ?

A)3.9.1540 B) 3.9.1526 C)3.9.1530

Shershah died in

A) AD 1540 B) AD 1526 C) AD 1530

Rleccao o N F1 Hatee fEeRrl et

A) G B) THEIER C) ek
was the highest officer in the cavalry.

A) Sarnobats B) Jumledar C) Naiks

Ted QY Tersht 8 T ITER hivft Sreferet ?

A) STERTR B) 3TeheR C) VEIEH

Who founded the new city of fatehpur Sikri?

A) Jahangir B) Akbar C) Shahjahan

HAATZATET fehoeT SHIUN SILrAT ?

A) TERTR HRUESEE] C) 3TeheR

Fort of Allahabad was built by .

A) Jahangir B) Shahjahan C) Akbar

TGS et HRATAIA Ufgel TER hid SLet ?

A) T B) & C) uas
The Portuguese built their first fortress in India at
A) Cochin B) Goa C) Mumbai

o THTE ST ATe Heg WA TeTdeh! ShiuTed [Seh1oft STt ?

A) 3T B) ety C)go

The death of mughal Emperor Aurangzeb occurred at which among the following places?

A) Agra B) Vijapur C) Pune

HAAHTER €1 USH WIeicTieh! ShivTTehg HUETd SATE! 3118 ?

A) F e B) qehi C) ST
The mansabdari system was borrowed from?

A) Mangolia B) Turkey C) Afghanistan
WIAETUeh! ShivTd INTETT T ATE! ?

A) FFgEt B) anf C) W=t
Which one is not a classical dance?

A) Kuchipudi B) Oddisi C) Bhangara

10

D) 3.9.1545

D) AD 1545

D) FrergR

D) Shiledars

D) T[eTaEA s

D) Gulbadan Begum

D) ITUH AT

D) None of these

D) SheAehedl

D) Kolkata

D) STgHSTR

D) Ahmednagar

D) wfvrn

D) Persia

D) YAATEH

D) Bharatnatyam

——
| —



72.

73.

74.

75.

76.

77.

78.

79.

T @ T AT T et ?

A) A B) AR C) T
Hampi was the capital of Empire.
A) Cholas B) Tanjavar C) Mughal

IR @M I WA hIUTe JIe! THISTEN T ohell ?

A) STeR B) T C) 3TeheR
Sher khan defeated the mughal Emperor named

A) Babar B) Humayun C) Akbar
TSI HEHE! HAl ShIUT Frelt ?

A) foraret B) ATTEA C) A Tt
Akbar’s revenue minister was

A) Birbal B) Tansen C) Abul fajal
TMEhHATE § TS TN01 FHdet ?

A) F=ET B) TR C) TR
Maratha chief Gaikwad belongs to

A) Baroda B) Gwalior C) Nagpur
AT 29T ShIVTd WS A1 THTOT fiesd ?

A) AT B) ThETee C) WA=t

Which mineral is found on a large scale in Zambia?
A) Copper B) Cobalt C) Manganese

WIAITh! ShHIUTAT TTedTes U291 SIeTuT STHIERT TETIe ATEl ?

A) TS B) UUTH C) A
Which of the following grasslands is not in south America?
A) Llanos B) Pampas C) Campos

THICTRTAT 8 I HIUTT e folTeR T 3118 ?

D) fera

D) Vijay Nagar

D) SIgniR

D) Jahangir

D) A

D) Todarmal

D) i@

D) Sindkhed

D) SieraTSe

D) Bauxite

D) A3t

D) Prairies

D) gt

D) Hooghly

D) HETE

D) Ocean

A) 3T B) TRTI C) Wgradt
Kolkata is located on the river
A) Orange B) Ganga C) Bhadravati
YaicTueht geaitan |aid il STTET 2R ShIUTaT ?
A) ael B) T C) 3TeRuT
Which of the following is the thinnest layer of the Earth?
A) Crust B) Core C) Mental

( ]

. )



80.

81.

82.

83.

84.

85.

86.

GeESAT ShIUTEAT SR ATATERUT YRt adt T ?

A) 3TT{UeR A B) &caI™ &

C) T§uT A D) AW &

Which force of the earth holds the atmosphere around it?

A) Nuclear Force B) Gravitational Force

C) Frictional Force D) Normal Force

TRRTRE ERUT SHIUTE AR FTAT ST TR ?

A) TS B) Tarert C) Tt D) U{ER
On which river has the Hirakud Dam been Built?

A) Mahanadi B) Godavari C) Kaveri D) Periyar
WcAeTdeh! Tehiel ISt ST,

A) TetrRe - stifen B) WEgX — AHTS,

C) UE — BEAETE D) TeTHEE! — SR

Select the odd match out.

A) Hirakud - Orissa B) Mettur-Tamilnadu

C) Dudhva-Chattisgarh D) Almatti — Andra Pradesh
YREITdhl hivTa WRATean ufgem feRr=er e ?

A) ATSETIET B) ATHTTIEN C) TeiteRIH D) hi=it
Which one of the following is not a part along the western coast of India?
A) Nhava Sheva B) Marmago C) Tuticorin D) Kochi

WRATA WCTeTueh! ShiTeT STalieRe THTSITd STEHHI SRTIfh faeft Sird ?

A) B) ST c) fem D) afieTieh wel
People are treated unequally in India on basis of -

A) Religion B) Caste C) Sex D) All of these
FFME TR =1 GHTST g

A) TAHFGR B) WIT¥Ieh C) el D) SicTaeh! |al
Electronic media includes

A) Newspapers B) Magazines C) Radio D) All of these
AT Aigen foerm weft |er shett St ?

A)8® B) 8 Wl C) 8 3TTEE D) 8 fe&isR
International women’s day is celebrated on

A) 8" May B) 8" March C) 8™ August D) 8" December

12

——
| —



87.

88.

89.

90.

91.

92.

93.

94.

A) ST B) T C) UTeTeh D) RicTueht Tl
Boys and girls learn about behavior from

A) Schools B) Society C) Parents D) All of these
AT UL ThiuT Shid ?

A) IR B) TSIUTH C) Yaue= D) ATa<hRT AT

Chief Minister is appointed by

A) MLA B) Governor C) Prime Minister D) None of these
TS i%ZFR el s 'r;?lﬂ'l

A) ShifdehEh B) Thelt C) TRAITET D) feheheue,

Adolf Hitler was German .

A) Revolutionary B) Poet C) Dictator D) Cricketer

T yevTe TAw gEEwEt i oiRd ?

A) 9 T BT B) ferera wurht

C) WAL T D) fommeh forerem

Who is the chief minister of Himachal Pradesh?

A) Jay Ram Thakur B) Vijay Rupani

C) Manohar Khattar D) Pinarvi Vijayan

TRwT 2016 ATETN A Taichte TBTg FEU iU S0 Shedl ?

A) TR B) feTeter et

C) FeReiamt TTe=t D) 8@ |t

Who is named as the world’s best player for 2016 by FIFA.

A) Neymar B) Lionel Messi

C) Cristiano Roanaldo D) Luis Suarez
Rrame=a T I S ?

A) SaiF B) Hamm C) W D) fermm

What is the capital city of Zimbabwe?

A) Durban B) Santiago C) Harare D) Lima

20 AT 2017 A SHTeS g0 sWfehean =1 ARG FrTe 3.
On January 20,2017, Donald Trump was sworn in as President of the united states.
A) 47 B) 45" C) 46™ D) 42"

‘TREeEel’ g1 ITee hIUTeT WeaTdit et 3Te.

A) BeliEie B) Greaiet C) STeTauT DELEIE]

With which game the word ‘freestyle’ is related?

A) Volleyball B) Football C) Swimming D) Shooting

( 1
{ 13 )



95.

96.

97.

98.

99.

100.

e uata =

A) 1.\ fam B) =Rt &

C) Tt SET I D) S1.WghaaH el 31gHa
Choose the man out.

A) Dr.Manmohan Singh B) Charan Singh

C) Lal Bahudur Shastri D) Dr.Fakhruddin Ali Ahmed

2017 "reren ‘TE aes’ 7 forara whivft Sierem 2
A) ATH foseer B) fSrrieRt = C) 3t drer D) ST sHe

Who was crowned as miss world in 20177
A) Manushi Chhillar  B) Priyanka Chopra  C) Andrea Tovar D) Devina Bennett

HTTYh TR T Y0t & T STraigr g ?

A) Safeaen B) TR C) VT TR D) ToEHEEEAT < e
Whose duty is it to provide the necessary health services?

A) Individual B) Government C) NGO D) Self help group
WRATe! JeaH= ShiIvT 3113 ?

A) G199 B) farefiw TRt C) g M D) g Wt

Who is the railway minister of India?

A) Suresh Prabhu B) Nitin Gadakri C) Piyush Goyal D) Narendra Modi

URATAe ufgelt et ardehetia SUATIE Yod W hivren {3l 9% el 2

A) faeett B) <18 C) ARTR D) Herd
In which of the following city India’s first ever broadgauge air conditioned suburban train started?
A) Delhi B) Chennai C) Nagpur D) Mumbai

‘DBT’ = feraiita ¥9 shivmd ?

Which is the expanded form of ‘DBT’?
A) Direct benefit transfer

B) Direct bank transfer

C) Door bank transfer

D) Direct bank transaction
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